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Ideals for irreducible component#ﬂ)f Xpar

I'= (W™ u®® 4+ w4 1)

* 1 irreducible components of dim¢ = 0, with total 44 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIF=(@w**4+u¥®+...+u?+1)

(i) Arc colorings

ub —3ut +2u%+1
u® — 4uS + 4u?
—ul® + 508 —8ub +3ut +u?+1
w9 — 448 + 5ub — 2ut 4 u?

ay =

ag =

—ul7 4+ 8ul® — 25u3 + 36wt — 19u° — 4u” + 2u® + 4ud —u
wl” — Tut® + 19u1% — 2401 + 130 — 207 +u

az =

Wl — 14u? + -+ 4ud + 8u3>

az = uB — 15w + -+ 4ud +u
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u? —11u? + -+ 2u% 4+ 1
ar =\ —u* +10u®? + - + 8u® — 4u?
u?t —11u?? + -+ 202 + 1
a7 = \ —u?* +10u?? + .- 4 8ub — 4u?
(ii) Obstruction class = —1
(iii) Cusp Shapes = —4u*? + 76u*" + ... — 8u + 2

)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C6 utt a1
€2 utt F25uM 4 2u 1
C3,C7,C8 w4+ 4 16u+5
€4 utt —3ut 4. —8u+3
Cs5, C9, C10 u a4 41
c11 u =11 4+ — 12041




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Ce yM sy 4 42+l
Co yM 11y 4 6y 1
C3,C7, Cg Yy —ATy® . - T26y + 25
Cyq yM 5y 4 70y + 9

Cs, 9, €10 yM =39y 2y 41

C11 yM 4y 4 62y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

uw=0.907981 4 0.3071691

—7.95121 + 4.480811

—3.24122 — 4.169971

u= 0.907981 — 0.3071691

—7.95121 — 4.480811

—3.24122 + 4.169971

u = —0.864630 + 0.2883381

—4.16526 + 0.153051

0.227540 + 0.9297251

u = —0.864630 — 0.2883381

—4.16526 — 0.153051

0.227540 — 0.9297251

u= 0.842517 4 0.3287701

—7.81717 — 4.883821

—2.90557 + 2.156241

u= 0.842517 —0.3287701

—7.81717 + 4.883821

—2.90557 — 2.156241

u = —1.170600 + 0.1358081

—0.38378 — 3.137701

—2.56284 + 4.580871

u = —1.170600 — 0.1358081

—0.38378 + 3.137701

—2.56284 — 4.580871

u= 0.238444 + 0.7532571

—9.78827 + 8.912541

—5.51225 — 6.861171

u= 0.238444 — 0.7532571

—9.78827 — 8.912541

—5.51225 + 6.861171

u= 0.211452 4 0.7537401

—10.14920 — 0.500101

—6.30668 — 0.523701

u= 0.211452 — 0.7537401

—10.14920 4 0.500101

—6.30668 + 0.523701

u = —0.226339 + 0.7430211

—6.22083 — 4.066371

—2.60237 + 3.833421

u = —0.226339 — 0.7430211

—6.22083 + 4.066371

—2.60237 — 3.833421

u= 1.27909

2.59443

3.57300

u = —0.265421 + 0.6376401

—1.64111 — 5.498851

—2.09355 + 9.097521

u = —0.265421 — 0.6376401

—1.64111 + 5.498851

—2.09355 — 9.097521

u = 1.333120 + 0.2387881

1.11897 + 2.942361

0

u= 1333120 — 0.2387881

1.11897 — 2.942361

0

u = —0.111488 4 0.6350851

—3.42148 + 0.217991

—7.97736 + 0.390831

u = —0.111488 — 0.6350851

—3.42148 — 0.217991

—7.97736 — 0.390831

u= 1.38005

2.50705

0

u=0.244204 4 0.5581961

0.06888 + 1.577501

1.83089 — 4.709261

u= 0.244204 — 0.5581961

0.06888 — 1.577501

1.83089 + 4.709261

u = 1.390480 + 0.1435091 5.13647 — 0.613651 0
u= 1.390480 — 0.1435091 5.13647 + 0.613651 0
u = —1.389040 + 0.1819091 5.88050 — 3.439761 0
u = —1.389040 — 0.1819091 5.88050 + 3.439761 0
u = —1.388080 + 0.2263931 5.26596 — 4.494381 0
u = —1.388080 — 0.2263931 5.26596 + 4.494381 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —1.38262 + 0.305941 —5.09640 — 3.334471 0
u = —1.38262 — 0.305941 —5.09640 + 3.334471 0
u = —1.41982 + 0.024991 —0.91602 4 4.407031 0
u = —1.41982 — 0.024991 —0.91602 — 4.407031 0
uw=1.39798 + 0.250081 3.65546 + 8.743891 0
u= 1.39798 — 0.250081 3.65546 — 8.743891 0
uw= 1.39053 + 0.299251 —1.08580 + 7.842591 0
uw= 139053 —0.299251 —1.08580 — 7.842591 0
u = —1.39749 + 0.303881 —4.58845 — 12.742801 0
u = —1.39749 — 0.303881 —4.58845 4 12.742801 0
u = —0.474413 + 0.2865771 —0.48387 + 2.279831 1.28247 — 3.097771
u = —0.474413 — 0.2865771 —0.48387 — 2.279831 1.28247 + 3.097771
u = 0.303652 4 0.4176091 0.5563397 + 1.1294101 4.11708 — 5.535771
u = 0.303652 — 0.4176091 0.5563397 — 1.1294101 4.11708 4 5.535771




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,¢e a4+ 1
c2 utt +25u 4 4 2u+ 1
C3,C7,C8 ut —u® 4 4 16u+5
€4 utt —3u* + - —8u+3
cs5, €9, C10 VM a4 w41
c11 e 1B+ - 120+ 1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, o y 425" 2y 1
o M 1y 4 6y 1
c3,C7,Cs y M — 4Ty . — 726y + 25
€4 y* 5y =Ty + 9
C5,C9,C10 y* =39y + .2y +1
c11 y Myt 162y + 1




